Employability Skill / TSI Sierer

ITI 15t Year, Common For All Trade
Module: Labour welfare legislation (English/ #ITéY)

1 As per factories act, 1948 canteen should be

provided in the factory if, workers are more

SR JfafAT#, 1948 FAR, SR
ST FFIR AT dX PRUITT hecled 3TclsY]
T GIMA.

A 100

B 250

C 500

D 1000

2 Under factories Act, the restriction on working

time of women is......

FRETAT HIACITAINT, ATGATTIT HIATAT dobax

A before 5 AM and beyond 7 PM @I 5 =T
el 30T WegTehIcdl 7 =T g

B before 6 AM and beyond 7 PM de&hlal 6 =T
el 30T HegTehled 7 =T I

C before 6 AM and beyond 8 PM H&Ia 6 =T
e 30T I 8 AT g

D before 7 AM and beyond 8 PM H&T&T b =T
e oY I ¢ = 4o

3 Under Factories Act, the workers weekly hours

should not exceed more than...............

A 60 hours
B 50 hours
C 48 hours
D 40 hours

Solutions and Explanation on
YouTube Channel

4 What is the expansion of ILO?

ILO =T fa¥dR S 31g?

A International Labour Organization ITARTSET
HIHIR G

B Indian Labour Organization R FHIFHIT
HECAT

C Indian Labour Occupation IR FHIFHIR
Sqqdry

D International Labour Occupation 3TdRITS¢IT

lHIIL cdddld

5 What is the minimum percentage of
employee’s contribution from the basic salary, as
per EPF Act, 19627

EPF &1ger, 1962 T8N H@ Adelldel haaRare
AT fRATT ToFhary fohdlr 31R?

A 8.50%

B 9%

C 12%

D 12.50%

6 Which amount does include in “‘wages”
amount as per payment wages Act?

¢ dclel HRICITAR "HI" ThAT BV TFha
qATfISE 3M8?

A Dearness allowance HgRNS $Tcdm

B Any travelling allowances &I0Tdgl Jard Hcd
C Any remuneration payable in respect of
overtime 3cgICISHTAT TEHTT T Tl HIUTART
Areer

D Any remuneration payable under any award
PIOTCITE ERRIAINT T Il FHIVIAE Al

Ans Key 1-B, 2-B, 3-C, 4-A, 5-C, 6-A,

Open Mind Guruji
For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
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7 Which factor is NOT concerned with
occupational health and safety?

IUTAT Teh IS IR INoT FRaraaeh
A Safety gf&IdT

B Health 3Rey

C Welfare &edroT

D Salary 99X

8 Which one of the following is an air pollutant?
Grefrerdeh HIUTAT dRY Tk 376 ?

A Oxygen 3iffeasia

B Nitrogen sTTaglstel

C Carbon dioxide e AN TFATSS

D Carbon monoxide FIeel AAIANFATSS

9 Which scheme of Act provides health

insurance requirements for workers?

FIACATAT FHIVTAT AT HIATRIATST AR AT
HTERFRAT FeTel FA?

A Factories Act SRUTAT hIIC]

B Plantation Labor Act &TRIYUT &R HIIer

C Employee’s Compensation Act HARI RIS
CARI[EA)

D Employee’s state Insurance Act HHTRT IT

ICEICOR A

Ans Key 7-D, 8-D, 9-D

Solutions and Explanation on Open Mind Guruji
YouTube Channel For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g

